SKYH)ERO

TH
E HERO FACTORY

Exploded views

Liftle

Spyder

Kits |S
[SKHOO-I04H] [SKHOO-I0H-FCR]

VEar bE'E'n

vou've Ne
e a3 Hero .-

(Ne) closé to b

TH
&&&&&&&&&&&&

VIEW THE
TUTORIALS
ON OUR
YOUTUBE

CHANNEL!



SKHO2 - 110 (Standoff Little) SKHO7 - 110 (Button Head PT 3X10MM China) SKHO3 - 005 (Main Frame Little Spyder)

SKHO7 - 110 (Button Head ScrewiM4X5MM)

SKHO1 - 102 - BK (Half Frame Spacer)

p 4 !

SKHO1 - 002 - BK (Frame Spacer Black)

SKHO04 - 002 (Motor 2806 950KV)

SKHO1 - 005 - BK (Motor Frame Black)

SKHO7 - 110 (Washer M3)

SKHO7 - 110 (Motor Button Head Screw M3X6MM))

5KY‘®ERD exploded views Little Spyder / Kits [SKHOO-I0W] [SKHOO-IOW-FCR] / Page /5

THE HERO FACTORY



SKHO04 - 002 (Motor 2806 950KV)

SKHO07 - 110 (DIN 912 Screw M3X10)

SKHO1 - 005 - BK (Motor Frame Black)

SKHO3 - 064 (Arms Set Little Spyder (2FR 2R))

SKHO1 - 004 - BK (Insert Arm Black)

SKHO4 - 003 - ESC

SKHO7 - 110 (Hex Nut Nylstop M3X0,5MM)

SKHO7 - 110 (Button Head Screw ISO 7380 M4X40) PS : 2 vis M4X40 et 6 vis M4X50

SKHO7 - 110 (Button Head Screw ISO 7380 M4X50) \\‘

SKHO7 - 110 (Button Head Screw 1SO 7380 M4X50)

SKHO2 - 110 (Knurl Button Long)
SKHO7 - 110 (Rondelle M4)

SKHO7 - 110 (Hex Nut Nylstop M4X0.7MM)

5KY‘@&RD exploded views Little Spyder / Kits [SKHOO-IOH] [SKHOO-IOW-FCR] / Page 3/5

THE HERO FACTORY



ALY

AN

SKHO1 - 101 (Landing Gear Left)
SKHO7 - 110 (Button Head Screw 1SO 7380 M4X50)

SKHO1 - 101 (Landing Gear Right)

SKHO2 - 110 (Knurl Button Long)

SKHO7 - 110 (Damper)

SKHO3 - 006 (Cam Plate Little Spyder)

-@ Page 4



SKHO7 - 110 (Clip Standoff)
SKHOS5 - 044 (Canopy Little Spyder)

SKHO7 - 110 (Gromet)

SKHO2 - 072 (Standoff Little)

SKHO7 - 110 (Button Head Screw I1SO 7380 M3X5MM)

SKHO2 - 073 (Zenmuse Spacer)

l 1\ Zenmuse Provided Screws

Page 5



